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Section 1 Algebra
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Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence
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Carryout simple algebraic manipulations and solve linear equations.
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Carryout more complex algebra manipulations and solve equations.
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Solve algebra problems involving graphs and manipulation.
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Overall Level of Performance




Total:
         / 54


==========================================================================

QUESTION ONE

Circle the pair of like terms in each of the following.
(a)  4x          4y          -3x

  [1]

(b) 6a
[image: image1.wmf]2

b      9 a
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b    -6ab
[image: image3.wmf]2

                        [1]

(c) 8m         8n         - 6mn      nm              [1]

QUESTION TWO

Expand and simplify these sets of brackets.

(a) 3(m – 2)

__________________________

  [1]

(b) p(2p + 3)
__________________________

  [1]

(c) 2m(m – 3n)
__________________________

  [1]

(d) (x + 5)(x - 3)

[image: image54.png]






 

  [1]

QUESTION THREE

Simplify these expressions.

(a)  a x a x b x b x 3                                     [1]

____________________________

(b)  t x 4                                                      [1]

           _____________________________

(c) a
[image: image4.wmf]2

 x a
[image: image5.wmf]3

                                                  [1]

_____________________________

(d) 6a + 4b – 2a + b                                    [1]

___________________________

(e) 10x²y – 5xy² + 4x²y – 2xy²                   [2]

___________________________

QUESTION FOUR

Expand and simplify these expressions:

(a)  (x + 4)²
______________________________

  [2]

(b) (2x + y) (3x – y)
______________________________

  
______________________________             [3]

(c) 4(a + 2b) – (5a – b)
______________________________
______________________________

______________________________           [3]

  

(d) (m + 5) ( m – 5) + 6m²
[image: image55.png]








_____________________________             [3]
  


QUESTION FIVE

Solve the following equations:

(a)  5x – 1 = 10

______________________________



______________________________

  [2]

(b)

[image: image6.wmf]

 EMBED Equation.3  [image: image7.wmf]2

4
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x

  = 6

______________________________



______________________________

  [2]

(c )  
[image: image8.wmf]2

m

 + 1 = 8

______________________________



______________________________

  [2]

QUESTION SIX

Factorise completely:
(a) 4a² + 12a 
     ______________________________



______________________________




  

     [1]

(b)  x² - 7x + 10

______________________________



______________________________
 
  [1]

(c ) 2x² + 7x + 3

______________________________


______________________________



______________________________
 
  [2]

QUESTION SEVEN

Simplify these algebraic fractions:

(a) 
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______________________________

  [1]

(b)
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______________________________

  [1]

(c )  
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______________________________

  [2]

QUESTION EIGHT

Solve these equations:

(a)  2y + 5 = 3y -1 
______________________________

______________________________

______________________________       [3]

(b)  2( 4x + 3 ) – 1 = x + 5
______________________________

       ______________________________

       ______________________________

      _______________________________      [3]

(c)  ( p + 6) ( p – 5) = 0

______________________________

______________________________

______________________________    [2]


QUESTION NINE


PQRS is a parallelogram and each side is represented by an expression.  Write and solve an equation to calculate x.

__________________________________

__________________________________         __________________________________
__________________________________

__________________________________

__________________________________

__________________________________

__________________________________      [4]
QUESTION TEN
Three families went on a harbour cruise .  The Walker family bought 2 adult tickets and 3 child tickets.  The Lesi family bought 1 adult ticket and 5 child tickets and the Pou family bought 2 adult tickets and  2 child tickets. Altogether they paid $250.

(a) Write and simplify an equation to represent this information.

_____________________________

_____________________________   [2] 
(b) If the price of an adult ticket is $29, find the price of a child ticket. 
            _____________________________

_____________________________

_____________________________

_____________________________    [3]
	NAME:
	TEACHER:


YEAR 10 MATHEMATICS, 2011
Section 2 Graphs


Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Describe simple patterns and plot simple graphs.
	Find terms in patterns and interpret linear graphs.
	Solve algebra problems involving graphs.

	

Overall Level of Performance




Total:
         / 42


==========================================================================

QUESTION ONE

Sherry is the owner of Shay’s Restaurant.  The customers at her restaurant can be seated around different numbers of tables.  The diagram below shows how customers are seated around 1,2 and 3 tables.

(a)  Sketch how Sherry would seat customers around 5 tables.




  
  [1]
(b) Complete the table below, showing the relationship of tables to customers seated in Shay’s Restaurant. 

 [4]

	Number of tables (T)
	Number of customers  

               (C)

	1
	4

	2
	

	3
	

	5
	

	25
	


(c)
Write a rule that links the number of tables used (T) to the number of customers (C).

C = ____________________

  [1]

(d)  If Sherry has used 10 tables, how many customers did she seat around the tables?

___________________________

  [1]

QUESTION TWO

A painter charges $25 per hour plus a fixed fee of $60 for expenses.  His charge is represented by the formula:
              C = 25H + 60
(a) How much would he charge for 7 hours of work?

$___________________

  [2]

(b) How many hours did he work if he charged $310?

     _______________ hours

  [2]

(c )   Another painter has different charges.
Complete the table for this painter’s charges
  [3]

	Number of Hours (H)
	Charge (= 30H + 50)

	1
	

	2
	

	3
	

	4
	

	5
	


(d)
Using the grid below, complete a graph of the painter’s charges.  Don’t forget to include a scale on each axis.


                                                              [3]


QUESTION THREE


(a)  Find the gradient of this graph.

___________________________

  [1]

(b)  State the x- intercept.

x =_________________________

  [1]

(c)  State the y- intercept

y = ________________________

  [1]

(d )  Write the equation of the graph in the form  
        y = mx + c.
y = ____________________________           [2]

QUESTION FOUR
The equation of a line is given by:

                     y = 8 – 4x
(a)  Draw the line on the axis below.         [2]
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(b)  What is the gradient of the line?  

____________________________      [1]
(c) What is the x-intercept of the line?


      ___________________________        [1]
QUESTION FIVE

The graph below displays the motion of an object from point A to point D.
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(a)
Is the speed constant over the whole 9 seconds?  Explain how the graph shows this.

__________________________

     __________________________

  [2]

(b ) Calculate the average speed for the sections:
(i)  AB

       _______________________

                  _______________________     

                                                                          [1]

(ii) CD

     _________________________

     _________________________       [1]

(d) What does the section BC suggest with regard to the motion of the object? 



                                                                          [1]
(e)  What was the distance travelled at 8     


seconds?


_________________________

  [1]

QUESTION SIX

The share prices for a week of two companies, Amco and Damco are shown in the graphs below.
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(a)  Which company’s share price :

(i)  rose over the week as a whole?

      __________________________    [1]

(ii)  fell over the week as a whole?

      __________________________    [1]

(b)  On which day of the week did both companies have the same share price?

      __________________________    [1]

      (c )  On which day(s) of the week was 

             Amco’s share price higher than 

             Damco’s?
              ___________________________     [1]

QUESTION SEVEN
A shoe manufacturer sells snow boots to the ski shop at Mt Hutt for twice what it costs her to make them.  The owner of the ski shop sells the snow boots to his customers for $20 more than he paid.  The costs, in dollars are shown in the diagram below:
(a) Complete the table to find the customer’s cost. 

  [1]
	Shoe manufacture’s cost ($)
	10
	20
	30
	40

	Customer’s cost ($)
	
	
	
	


(b)  Draw a graph on the grid below to show the customer’s costs.                            [3]


(c) If a pair of snow boots cost the manufacturer $25 to make, how much will the customer pay?

_____________________________    [1]

(d) Write this rule, using c to stand for the customer’s cost in dollars, and m to stand for the shoe manufacturer’s cost in dollars.

   _______________________________   [1]


	NAME:
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YEAR 10 MATHEMATICS, 2011
Section 3 Measurement

Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Solve simple measurement problems.
	Solve measurement problems.
	Plan, carryout and evaluate a measurement task.

	

Overall Level of Performance




Total:
         / 36


==========================================================================

Useful Formulae
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QUESTION ONE

Convert the following:

(a)  6m   =   __________  cm                    [1]

(b)  2.5L=   __________ ml                      [1]

(c) 85g   =   __________ kg                      [1]

(d) 1.7km = __________ m                       [1]

QUESTION TWO

The diagram below is a hygrometer that indicates the percentage humidity.
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(a)  Write down the % humidity as shown by the pointer.
           ___________%                                 [1]
(b)  What type of day is it?

_______________________           [1]

QUESTION THREE
Hazel records two programmes from television.  The first lasts 1 hour, 35min and the second lasts 1 hour, 45min.  The disc she records on is a blank 4-hour disc.  How much blank time does she have on her disc after recording?

(a)  How much time will she record for in total?

_______________________________       
  [1]
(b)  How much blank time is left on the disc after recording?

_______________________________       
  [1]

QUESTION FOUR
A train leaves London at 11.35am and travels to Manchester.  The journey takes 1 and a half hour.  At what time does it get to Manchester?  

Give your answer in 24 hour time.

________________________________     [2]

QUESTION FIVE
Jacko has a piece of land with these dimensions. He wishes to put a garden in, in the following shape.


                          
                                        
(a)  What is the total area of his garden?

______________________________

______________________________

_____________________________   [2]

(b) Jacko wishes to erect a fence around the outside of his garden.  How much fencing would he need?

____________________________

____________________________

____________________________      [2]

QUESTION SIX
A typical cold drink can have a radius of 30mm and height of 110mm.  Tinned fish comes in a can of diameter 100mm and height 40mm.
          

         

(a) Calculate the volume of the typical cold  

          drink can.

         ______________________________

        ______________________________

        ______________________________

       ______________________________    [2]

(b)  Calculate the volume of a typical can of 

             fish.
        _________________________________

       _________________________________

      _________________________________  [2]

(c) Will the contents of a cold drink can fit into a fish can?  Explain.

____________________________

____________________________

____________________________         [2] 
QUESTION SEVEN
Willow works for the local council and one of their projects is to renovate the town hall.  They intend to refurbish the dance floor that is shaped like this.

Scale = 1cm: 2m
Calculate the actual area of the dance floor.  Show all working.

_________________________________

_________________________________

_________________________________

_________________________________

_________________________________

_________________________________

_________________________________

_________________________________

_________________________________      [4]
QUESTION EIGHT
The following is a sphere with diameter 46mm.

Calculate the volume of the sphere.
_________________________________

_________________________________

_________________________________

_________________________________       [3]

QUESTION NINE
Sione is building a pond in his garden in the shape of two semi-circles with diameter 10m. 


[image: image27.wmf]                  
Calculate the total area of the pond.

___________________________________

___________________________________

___________________________________

___________________________________

___________________________________

___________________________________    [4]

QUESTION TEN

Sam wants to build a circular pool on a rectangular piece of land that he has.  A scale diagram is below.

Sam wants to put paving blocks around the pool (in the shaded area).

Scale:  1cm: 3m

(a)  Calculate the area of the paving in m²

              Show all steps of working.

         _______________________________

         _______________________________

         ________________________________

         ________________________________

         ________________________________

        ________________________________

       ________________________________

        _________________________________

       _________________________________

       _________________________________

       _________________________________

      _________________________________  [5]

(b) Convert the area to hectares.
            ______________________________

            ______________________________

           _______________________________

           _______________________________ [3]
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Section 4 Geometry


Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Perform simple transformations, constructions and 3D representations.
	Perform transformations, constructions and 3D representations.
	Demonstrate an understanding of geometrical techniques.

	

Overall Level of Performance




Total:
         / 30


========================================================================

QUESTION ONE
                   [image: image28.wmf]    

(a)  How many lines of symmetry does the above shape have?

___________________________     
  [1]

(b) Draw the line(s) of symmetry on the above shape.                                      
  [1]

(c ) Does the above shape have rotational symmetry?

_______________________________   [1]

QUESTION TWO

Reflect the following shape along the given line.

                                                                          [1] 
                  

QUESTION THREE
Kahu also has some tiles that she wants to put around her barbecue area.  She wants to make some patterns with them.  Rotate the tile 90º about C.


                                                                          [2]






  QUESTION FOUR

Enlarge the following shape by a scale factor of 
[image: image29.wmf]2

1

 with P as the centre of enlargement.

QUESTION FIVE


(a)  Construct a regular hexagon with side length 30mm.  
(Leave all construction lines visible)   

                                                              [3]

(b)  Bisect one angle of the hexagon.         [2]

QUESTION SIX
The following is a structure in Kahu’s barbecue area where she has some benches stacked together.
Make an isometric drawing of the barbecue area.
[image: image30.emf][3]

QUESTION SEVEN
Here is another isometric drawing.  Draw the top, front and right-side views of this object on the grids below.


Top view

[image: image31.png]




  [1]

Front view

[image: image32.png]




 [1]

Right side view

[image: image33.png]




  [1]

QUESTION EIGHT
The following is the net of a 3D shape. 


 Sketch the object..                                           [2]

QUESTION NINE
Use the following rectangle and answer the questions below.

 (Leave all construction marks on your diagram)

(a)  Construct the perpendicular bisector of CD and extend it so it crosses the line AB.  Label the intersection with AB “E” and the intersection with CD “F”.
                                                               [1]

(b)  Bisect angle ADF and extend the bisector to E.                                         [1]

(c) From point F, construct line FB parallel to DE.                                                   [1]

(d) Mark a point G on DE, 2cm away from D.                                                         [1]

(e) Construct a semi-circle about the line DE with radius 1cm and G as centre.                                                
                                                            [1]
(f) Reflect the semi-circle along line EF. 

                                                                       [1]
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YEAR 10 MATHEMATICS, 2011
Section 5 Statistics


Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Answer questions relating to graphs and perform basic statistical calculations.
	Comment on aspects of statistical graphs and draw graphs.
	Interpret graphs and reports.

	

Overall Level of Performance




Total:
         / 25


==========================================================================

QUESTION ONE

Craven High’s Under 14 Boys Rugby team were recently weighed and their weights recorded. (to the nearest kg)
         27   35   42   35   36   51   43

          30   52   47   36   48   41   38

          40   46   49   37   29   26   46

          43   61   33   42

(a)  How many boys were on the rugby team?

____________________


  [1]

(b)  Find the mean mass of this group of boys.


 _________ kg



  [1]

(c)  Complete an ordered stem and leaf graph for the data.  The stems are given below.





 


  [3]

(d)  What is the median mass of this group of 
       boys?

_________________ kg

              [1]

(e) Is this set of data discrete or continuous 
       data?
___________________________

  [1]

QUESTION TWO

The graphs below show the exports in the various sectors for 2 years in Cravenby.
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(a)  What was the total value of exports in 2010?
   ______________________
              
  [1]

(b)  What was the best export in 2009?
  ________________________

  [1]

(c )  In which year was the exports from  

       manufacturing of greater value than those

from mining?

     ________________________

  [1]
(d) Did any sectors’ value in exports decrease 
      from 2009 to 2010?  If so, which one(s)?
     _________________________

  [1]

                 
QUESTION THREE

Craven High pupils are involved in various different codes of sport.  A sample of 120 pupils were taken and the data represented in the pie graph below.

(a)  How many pupils play rugby?

__________________________         [1]

(b)  What percentage of pupils play netball?

__________________________        [1]

(c)  What angle is represented by the volleyball sector?

___________________________      [2]

QUESTION FOUR
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Study the above scatterplot taken from a sample of Year 13 students at Cravenby High School and answer the questions that follow:

(a)  What two variables are being compared?

______________________________

______________________________  [1]
(b)  What is the largest number of credits gained? (approximate value)
______________________________  [1]
      (c) Is the relationship between the variables    

           positive or negative ?

           ______________________________   [1]

(d) Complete this description of the relationship.
“In general, as the hours of homework done increases …

______________________________

______________________________  [1]

(e) The graph indicates an outlier.  
Circle the outlier on the graph.
  [1]

QUESTION FIVE

The information below shows the average rainfall taken two-monthly in Cravenby for a year.
                     80   76   50   35   20   12 

(a) Complete the table below.  Space has been left for your calculations.


  [6]

	Mean
	

	Lower Quartile
	

	Median
	

	Upper Quartile
	

	Mode
	

	Range
	


(b)  Use this information to draw a box and whisker plot beside the scale below.


[image: image36.png]








  [5]


 (c) Using the graph you have drawn and referring to the statistical measures in your table, comment on the distribution of the data.  You may like to mention how evenly the data is spread, any clusters and other points of interest.






  [3]
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Section 6 Probability

Answer ALL questions in the spaces provided in this booklet.           Show ALL working.

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Determine probabilities for equally likely events.
	Interpret the results of an experiment and determine probabilities.
	Solve theoretical probability problems.

	

Overall Level of Performance




Total:
         / 25


=========================================================================

QUESTION ONE

The trial concerned here is spinning the spinner in the diagram once.  The spinner consists of two boys Malcolm and Paul and the rest are girls. (The pointer landing on a dividing line is not considered)
KEY
M = Malcolm                    
J   = Jane
L =  Lucy
P  = Paul              

F  = Fiona                                            
A = Anna
(a)  What is the probability that the spinner will stop on Malcolm?
___________________________    [1]

(b) 
 What is the probability that the spinner will not stop on Lucy?

_________________________           [1]

(c)  What is the probability that the spinner will stop on a girl’s name?

__________________________        [1]

QUESTION TWO

35% at a meeting were females.  If there were 600 people at the meeting, how many were females?




                                                        [1]

QUESTION THREE

A group of students were surveyed to identify the colour of their eyes.  The results were entered in the table below.
	
	Blue Eyes
	Not Blue
	Total

	Male
	    10
	      5
	

	Female
	     8
	    12
	

	Total
	
	
	


(a)  Complete the totals for the table.         [3]
(b)  What is the probability that a randomly selected student has blue eyes?   

____________________________      [1]

(c) What is the probability that a randomly selected person is male with blue eyes?

____________________________      [2]

QUESTION FOUR
Rugby matches at Hone’s school are either played on home ground or away.  The probability that Hone plays at home is 0.35 and the probability of a win is 0.7.  The probability of Hone’s team losing away is 0.6.
Complete the missing parts of the probability tree.  



  [3]


Use the probability tree to answer the following questions.  Show any calculations used.

(a)  Calculate the probability that Hone’s team wins.
_______________________________

  [3]

_______________________________

(b)  What is the probability that Hone’s team loses when they play away from home?
_________________________________

  [1]
QUESTION FIVE
Patrick has a 24% chance of winning each Table Tennis game he plays.  Calculate the probability that Patrick will win his next two games.
_________________________________        [2]


QUESTION SIX
Mele has toast for breakfast 45% of the time.  The remainder of the time she has untoasted bread.  She either has jam or eats her bread (or toast) plain.  On untoasted bread, Mele has jam 10% of the time and she has her toast plain 25% of the time.  
(a) What is the probability that Mele has 

untoasted bread?

           ___________________________         [1]

(b)  Draw a tree diagram for this information.                                           




  [3]

(b) Use the information to calculate the probability that Mele has jam.
____________________________

____________________________      [2]                                                          
	NAME:
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YEAR 10 MATHEMATICS, 2011
Section 7 Number

Answer ALL questions in the spaces provided in this booklet.           

Show ALL working

	Achievement Criteria     For Assessor’s use only

	Achievement
	Achievement

with Merit
	Achievement

with Excellence

	Solve number problems.
	Solve number problems in context.
	Solve number problems in context involving several steps or reversing processes.

	

Overall Level of Performance




Total:
         / 26


==========================================================================

QUESTION ONE

If a supply of food lasts 12 people 5 days, how long will it last 20 people?
________________________________

________________________________    [2]

QUESTION TWO

A car salesman had a car priced at $12 500.  During a sale the car was marked down to       $10 000.  What is the percentage reduction of the car?

_______________________________

_______________________________

_______________________________       [3]


QUESTION THREE

At a recent census in a country called Mathicon, its population was recorded as 

2 005 436 000.  Its land area was 9.56 x 10
[image: image37.wmf]6

 km².
[image: image38.wmf]
(a)  Write the population in standard form.

___________________________     [1]

(b)  Write the land area in ordinary form.
___________________________    [1]

(c)  How many significant figures does the population have?

___________________________     [1]

QUESTION FOUR

A group of friends have a meal a restaurant.  There are set prices for different courses:

	    Entrée: $ 12.00

    Main:   $ 24.50

    Dessert:$ 8.25


(a)  Altogether they order 3 entrees, 5 mains and 2 desserts.  How much is their bill?

____________________________

___________________________

___________________________ 

__________________________               [3]

(b)  If they were given a 20% discount, what did they have to pay?

____________________________

____________________________

____________________________      
  [2]

(c) What fraction of the bill, in its simplest form was spent on Entrees?  
____________________________    

      _____________________________          [1]      
QUESTION FIVE

 320 students were absent from school during July 2010.   115 of them were girls.  What percentage of the people absent were boys?
________________________________

________________________________      
  [2]

QUESTION SIX

Kim and Rio travel to university together with Keno.  The arrangement is that since Kim lives further away she pays 
[image: image39.wmf]5

2

 of the petrol expenses and Rio pays 
[image: image40.wmf]4

1

 of what’s left.  The rest is paid by Keno.
(a)  What percentage does Kim pay?

__________________________          [1]

(b)  What fraction is left for Keno to pay?

__________________________

__________________________

__________________________          [3]

[image: image41.wmf]
QUESTION SEVEN

During winter the temperature in Christchurch was   -4ºC and in Auckland it was 20ºC warmer.  In Dunedin it was 18ºC colder than Auckland.
What was the temperature in Dunedin?

________________________________

________________________________          [2]

QUESTION EIGHT

A small dairy farm produced 1.64 x 10
[image: image42.wmf]3

 cartons of milk in a day.  The ratio of low fat milk to full cream milk was 3:5.  
How many cartons were full cream milk?

______________________________

______________________________

______________________________

______________________________              [3]
[image: image43.wmf]



QUESTION NINE
Paddy is busy with a DIY project and goes to Sal’s Hardware and buys the following:

               Cordless drill: $120.00

               2 Screwdrivers: $8.50 each

               100 Screws at $3.50 for 25

(All prices are inclusive of 15% GST)

Sal had a “GST free day” and Paddy’s bill was reduced.  

Paddy then went to Hennings and bought 8m of railings at $5.90 per metre.  He was given a discount of 20%.  

Calculate the total cost of Paddy’s purchases from both stores.

State what you are working out at each step.
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Answer ALL questions in the spaces provided in this booklet.           Show ALL working.
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	Calculate unknowns in right-angled triangles.
	Calculate unknowns in right-angled triangles from words and diagrams.
	Model 2D situations to find unknowns using Pythagoras 

or trig ratios.

	

Overall Level of Performance




Total:
         / 24


==========================================================================

QUESTION ONE

For the triangle below, answer the following questions:


                    x
(a)  Calculate x

____________________________

____________________________

____________________________

____________________________      [2]


Fill out the trig fractions.  You do not have to calculate the angle.

(b)  Sin A = _______________                 [1]

(c) Cos A = ________________           
  [1]

(d) Tan A = ________________                [1]

QUESTION TWO

Calculate the length or angle marked x in each of these triangles.


(a)  

_______________________________
_______________________________

_______________________________            [2]

(b)  

_______________________________________

_______________________________________

_______________________________________

x = ___________ cm

     [2]

                                30cm
(c)

_______________________________________

_______________________________________

_______________________________________

x = ___________ º

     [2]


(d)              
____________________________________

____________________________________

____________________________________

____________________________________ 

x = ___________ º

     [2]


QUESTION THREE

A tree is 5m tall and Keanu stands 2.1m away from the foot of the tree.
[image: image44.png]


                                         
Calculate the distance from where Keanu stands to the top of the tree.
______________________________________

_______________________________________

_______________________________________
distance = ___________ m

[2]

QUESTION FOUR

The diagram shows a skateboard ramp at a skatepark.  The ramp is 10m long and makes an angle of 18º with the ground.

[image: image45]
Calculate the height (x) of the ramp.

_______________________________________

_______________________________________
______________________________________

x = ___________ m

[2] 
QUESTION FIVE

The roof of a house slopes at an angle of 38.5º The roof- run from the top of the house to the side is 15m.  The height from the top of the roof to the rafter is 10m.
 Calculate the length of the rafter.
_______________________________________

______________________________________

_______________________________________

_______________________________________

_______________________________________
rafter = ___________ m

[4]


QUESTION SIX

A vertical tower is 48m high.  Two campsites A and B lie on either side of the tower, creating a straight line with the foot of the tower.  

Campsite A is 80m away from the foot of the tower and the distance between campsite A and B is 153m.  

If a rope from the top of the tower is tied to the ground at Campsite B, calculate the angle that the rope makes with the ground. 
Draw your own diagram for this situation.  Label all distances and angles clearly
_______________________________________

_______________________________________

_______________________________________

_______________________________________

_______________________________________

______________________________________

_______________________________________

_______________________________________

_______________________________________

_______________________________________

_______________________________________

Angle = ___________
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	Solve simple angle and length problems.
	Solve simple angle problems and give reasons.
	Calculate angles giving reasons.

	

Overall Level of Performance




Total:
         / 25


==========================================================================

QUESTION ONE

ABCD is a straight line with lines BE and CE meeting at E.  

Calculate:

(a)  x = ___________________                 [1]

Reason:  ___________________         [1]

(b)  y = ___________________                 [1]

Reason:  ___________________         [1]

QUESTION TWO

Two racetracks A and B lie parallel to each other.  A diagonal track C connects both tracks making an angle of 42º with track A.  The diagonal track C extends further to join a third track D that is parallel to the other two tracks A and B.

Calculate:

(a)  x = ________________________       [1]

Reason:  ____________________       [1]

 y = _______________________         [1]

Reason:  ___________________         [1]

QUESTION THREE
Petra is a graphics designer who is busy designing a new logo for a business.  The draft logo is made up of two parallel lines cut by two diagonals. 



[image: image46.wmf]
Calculate:
(a)  a = _______________________    [1]

(b)  b = _______________________    [1]

(c)  c = _______________________     [1]

(d)  d = _______________________     [1]

(e)  e = _______________________     [1]

(f)  f =  _______________________     [1]

QUESTION FOUR

Petra decides to brainstorm another logo for the same business and ended up with this draft.


Calculate with reasons:
(a)  x = ______________________

                  ______________________

                   ______________________
                 ________________________         [3]

(b) 
 y = _____________________

_________________________

_________________________

__________________________          [3]

QUESTION FIVE

At the local fair there is a circular rollercoaster ride that is supported by two straight beams AOBD and CD.  Beam CD is a tangent to the rollercoaster and O is the centre of the rollercoaster.

Calculate with reasons :  Angle BDC

Angle                                        Reason
                                                                       [5]
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		Grades Data set

		This data set contains information for 30 students who sat Level 3 in 2004

		The number of level 2 credits the student gained in the previous year

		The average number of hours the student spends on homework per week

		The student’s total family income for the past year

		The average amount of pocket money the student gets each week

		The average number of hours that the student works each week

		The average number of hours the student spends doing exercise each week

		The student’s IQ based on a standardised testing programme.

		The number of level 3 credits the student gained

		L2 credits gained pa		Homework per week (hours)		Family income      pa ($)		Pocket money per week ($)		Part-time      work (hours)		Weekly exercise (hours)		Student IQ		Credits gained pa

		96		22		80000		18		8		6		110		105

		118		20		96000		25		2		8		135		124

		100		13		46000		25		12		3		102		86

		78		16		56000		20		16		4		95		74

		45		7		47000		5		16		2		78		25

		79		13		67000		5		0		5		82		63

		76		5		51000		12		15		5		95		45

		86		8		67000		15		4		4		105		93

		120		18		87000		35		3		6		111		122

		98		16		45000		20		14		7		95		74

		87		10		56000		25		12		5		96		97

		96		12		49000		12		15		6		82		78

		69		5		45000		24		15		4		82		35

		72		12		62000		5		14		4		89		53

		60		15		36000		10		14		3		86		45

		79		2		47000		16		16		6		104		47

		56		16		51000		4		12		4		97		83

		68		9		54000		12		18		5		85		46

		76		17		55000		18		1		2		94		75

		78		10		61000		16		16		3		96		64

		61		9		37000		14		15		3		101		38

		88		15		59000		15		5		6		106		96

		104		15		63000		12		7		7		105		112

		126		21		76000		18		8		8		122		118

		102		15		64000		20		9		4		107		102

		56		11		45000		6		13		3		81		67

		78		17		56000		8		10		5		100		94

		77		7		52000		12		14		4		93		73

		20				42000		10		16		3		76

		95		15		63000		6		12		4		114		87
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